the economy took a bound up.

Now, this is a characteristic of the European region. It has
plenty of resources, except oil, all the resources it needs, and it
has a tremendous concentration of skill and scientific and engineer-
ing ability. If you pool all of this and forget about national
boundaries, you can produce in Europe a third world power, which
would be the best way to keep the peace that 1 know of,

The Soviet Union, of course, has adopted the policy of advancing
the industrial revolution as rapidly as it possibly can be done, by
putting in such an incredible amount as 30 percent of the gross national
product into capital formation. That's a larger proportion than the
British did in the early days of the British industrial revolution,

The result is a tremendous growth of industries, a tremendous percentage
of productive increase, but not consumer goods. These are capital goods,
armaments, and things of this sort. The production of housing lags be-
hind., The production of vacuum cleaners lags a long way behind. But

the Soviet Union is also categorically denied all elements of the demo-
cratic revolution.

How come that such a tremendous area exists? Look at its size.
Maybe you are accustomed to look at it on a Mercator map, which greatly
exaggerates the size, If you want to have nightmares, just sit and
look at a Mercator map and you will find one in back of every general
officer's desk in the Pentagon. One thing I'd like to do is have
permission to go in there and remove zvery one of those Mercator maps,
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